
Addition	and	Subtraction 
 

 

1. Add the following. 

(a) 

 

(b) 

 

	
 (c) 

	

	

 (d) 

	

	

2. Circle the correct sum and answer that match the picture. 

	
(a) 

	

	

	

	

	

	

	

15  +  4  =   

12  +  6  =   

11  +  8  =   

9  +  9  =   

6 + 4  8 + 4  9 + 4  6 + 6 

= 10  = 12  = 12  = 12 



(b) 

	

	

	

	

	

	

	

 

 

 

3. Subtract and tick (✓) the correct answer. 

a.       14    13    20                            

 

b.     9    10    8 

 

c.     6    8    9 

 

d.     10    9    11 

 

e.     13    14    12 

 

f.     18    17    19 

 

8 + 7  8 + 8  9 + 7  10 + 5 

= 15  = 16  = 16  = 15 

18  ‐  4  = 
 

11  ‐  12  = 
 

12  ‐  3  = 
 

19  ‐  9  = 
 

20  ‐  7  = 
 

25  ‐  6  = 
 



g.     10    12    11 

 

h.     11    10    15 

 

i.     5    7    6 

 

 

4. Cross the strokes and complete the subtraction facts. 

a.  

 

b.  

 

c.  

 

d.  

 

e.  

17  ‐  5  = 
 

16  ‐  5  = 
 

10  ‐  3  = 
 

18  ‐  7  = 
 

12  ‐  6  = 
 

15  ‐  4  = 
 

19  ‐  8  = 
 

17  ‐  5  = 
 


